T % T =1 e —— e —— e —— I —— ] I —-—— ]
0 O O O O O O

<<<<<<<

EEEEEE

ALz
XXXXXXXXX
AL2T
FLAKTRUM
ALty ALI3
A1 LAGER FERRAD
xxxxxxxx u] u] |

BBBBBB

======

,,,,,,

ul o 0 o o o o 0 0 Mg 1) 0 n n n n n 0 SR i
[ [
l [
% >>>>>>>>>>> M
H p H _ P
A151
HISS, H2 o HISS, H2 o
Do ] | g I
HISS, H1 1 i
| U
N W N

xxxxxx

xxxxxxx

SKALA T METER

== i—| S —E—i— == =i == I=iI—1—a—i— == = =

8301
B33 8335 8317 8318 8319 8320 B33t 8335 8317 8318 8319 8320
================================================
XXXXXXXXXXXX
2\
8321 8321
uuuuuuuuuuuu
A AN
w227 b 8322 b 8322
B || e owew | &we @ e e enwbwens | Ay e
8333 . 83333 .
ane o
D e Doea i
,,,,,,,,,,,,
=
B326 8325 B326 8325
XXXXXXXXXXXX
ﬁ]]]ll.].]] T I=I=1=E=I=I=I=

8301 B301
KORR KORR






